ICT in EFL credit test, MA3, 05/02/2011, ver. A
Circlethe best answer

1. PDAs have been supplanted by:
(a) corpora,

(b) smartphones,

(c) KWICs,

(d) Pecha Kuchas.

2. Browsing the web as the surface of a sphere example of:
(a) gender stereotyping,

(b) age stereotyping,

(c) reconceptualization,

(d) generation gap.

3. With the internet, learner autonomy is:
(a) restricted,

(b) enhanced,

(c) absolute,

(d) reduced to zero.

4. Back in 2005 the "20 technology skills thateallicators should have" did not include:
(a) computer network knowledge,

(b) digital cameras,

(c) knowledge of PDAs,

(d) knowledge of virtual worlds.

5. Concorded corpus text can easily be used to:
(a) make cloze tasks,

(b) teach storytelling,

(c) teach phonetic transcription,

(d) make dialogue-ordering tasks.

6. Ablaze, ammunition, bullet, burn, ignite are all returns of an e-dictionary query of
keywords:

(a) containing the sound /t/,

(b) with very recent etymologies,

(c) whose definitions contain the wdide,

(d) POS-tagged in a corpus.

7. Pecha Kucha is:

(a) aZX Spectrum nickname,

(b) one type of concordancer,

(c) another term focloud computing,
(d) one type of presentation.

Best answers: 1b, 2c, 3b, 4d, 5a, 6c¢, 7d.



ICT in EFL credit test, MA3, 05/02/2011, ver. B
Circlethe best answer

1. "Murphy" is:

(a) a new internet browser,

(b) Michael Wesch's nickname,
(c) the same adwischenruf,

(d) malfunction metaphor.

2. "Just go tavww.criticalthinking.comand click on [answers]" is:
(a) good advice on the use of ICT in education,

(b) bad advice on the use of ICT in education,

(c) impossible, because the site does not exist,

(d) what many people do when they want answersitioat questions.

3. "Cloud computing" is about:

(a) using laptops during air travel,

(b) using computers in meteorology,

(c) moving resources from PCs to the web,

(d) using Local Area Networks (LANS) in schools.

4. The most fundamental of the 20 ICT educatotsskil
(a) are served by MS Office,

(b) have to do with CALL,

(c) concern the use of the internet,

(d) are about security.

5. A corpus of English text can be especially usefteaching EFL:
(a) pronunciation,

(b) morphology,

(c) phraseology,

(d) semantics.

6. (P)IC(L)E — this acronym, thanks to bracketgads to:
(a) two existing names: ICE & PICLE,

(b) three existing names: ICE, ICLE & PICLE,

(c) four existing names: ICE, ICLE, PICE & PICLE,

(d) five existing names: ICE, ICLE, PICE, PICL &RIE

7. Most CDROM-based CALL packages nowadays offer:
(a) LOB,
(b) LMC,
(c) DDL,
(d) ASR.

Best answers: 1d, 2b, 3c, 4a, 5c, 6b, 7d.



